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< BEXXFE > 1 fu SRE 29230 &

5i%F | S 10mS40 _ St S2 S8 S4 BE | X0K &t

A | 25 iE BER 98.3 | 101.9 | 99.8 | 102.7 402.7

B | 24 HH E£E 100.9 | 102.6 | 101.9 [ 90.6 396.0 1198.0
c | 25 SR _AE 98.1 99.8 | 99.7 | 101.7 399.3

5%t | SR 50m3%20 K1 K2 P1 P2 S1 S2 BR | X% =11

a | 27 | RfIA == 98 95 100 99 94 93 579 23

b [ 15 A & 100 92 96 98 91 95 572 22 1725
b | 32 BJI|_ED 93 97 95 99 93 97 574 29

< BBXFE > 2 £ BEE 29010 &

SiE | SE 10mS40 st s2 S3 S4 fa | XOH &t

A | 24 k& B 103.2 | 103.4 | 98.2 | 95.2 400.0

B | 23 BiE 6% 102.8 | 101.3 | 103.1 | 104.1 411.3 1225.0
c | 24 ZA G 103.2 | 1045 | 104.8 | 101.2 413.7

5%t | SR 50m3 % 20 K1 K2 P1 P2 S1 S2 BR | X% =11

a | 18 2| K& 92 96 96 97 87 92 560 16

b | 13 XE B 92 94 92 95 96 91 560 12 1676
b [ 30 INE BFE 89 89 96 99 91 92 556 12

< EBEWBAXZE > 3 fI SREt 28875 &

SRt | GIEE 10mS40 S1 S2 S3 S4 #BE | XK &t

A | 27 X £ 100.6 | 99.3 | 101.6 | 99.3 400.8

B | 25 FE 8 1015 | 103.2 [ 103.9 | 1025 411.1 1214.5
c | 27 g £ 995 | 102.4 | 100.4 [ 100.3 402.6

SRt | STEE 50m3 X 20 K1 K2 P1 P2 S1 S2 #h | X% &5t

a | 28 Hg £ 87 87 97 97 87 89 544 9

b | 16 FH 82 94 94 98 91 94 89 560 16 1673
b | 33 TE i 94 93 97 97 93 95 569 17

< FBXE > 4 {4 38§t 28833 A&

SRt | GIEE 10mS40 S1 S2 S3 S4 #BE | XK &t

A | 28 Ah RE 100.8 | 99.8 | 101.1 | 102.7 404.4

B | 27 BA B 99.4 | 100.9 | 101.6 | 101.6 403.5 1219.3
c | 28 — /& 101.1 | 103.8 | 102.8 | 103.7 411.4

S| HE 50m3 X 20 Ki K2 P1 P2 S1 S2 g5 | XO% it

a | 29 —JE & 97 95 96 98 94 92 572 20

b | 17 Hy i 85 91 95 93 73 92 529 8 1664
b | 34 | KIE EF 96 95 99 94 89 90 563 15

< HRXFE > 5 fu BREET 28213 &

593 | SfEE|  10mS40 St S2 S3 S4 AR | XOHK &5

A | 23 aK EE 105.0 | 103.2 | 101.3 | 102.4 411.9

B |2 | &% Cxf 101.8 | 102.5 | 103.6 | 99.8 407.7 1227.3
c | 23 [ /vl EX=E | 101.0 | 103.1 [ 101.3 | 102.3 407.7

S| HE 50m3 X 20 Ki K2 P1 P2 S1 S2 g5 | XO% it

a | 171 | =% Al 94 94 98 98 94 92 570 16

b | 12 L BE 26 83 97 97 88 85 476 11 1594
b | 29 BK EE 94 93 94 92 83 92 548 15

< EBESBXE > 6 &I S&Er 27534 &

SiEE | ST 10mS40 St S2 S3 S4 #AR | XOHK &t

A | 29 mHE = 98.8 | 100.8 | 97.0 [ 100.3 396.9

B | 28] BF WO& | 938 | 974 | 937 [ 955 380.4 1161.4
c | 29 b RIE 95.5 96.1 95.9 96.6 384.1

SEE | HE 50m3 X 20 Ki K2 P1 P2 S1 S2 Brm | XO% &&t

a | 16 HERE = 93 88 93 94 80 92 540 12

b | 11 HhE = 82 85 94 95 86 83 525 6 1592
b | 28 EFH Y= 85 87 98 94 80 83 527 12




